Equations for model 2 split by destination country

Kenya:

log(Mi,j) =Bo+ B1 K1+ BK; + B3Ks + BuK, + ﬁslog(Pj )+ ﬁeKllog(Pj )+ ﬁ7K2109(Pj )
+ ﬂ8K3109(Pj ) + .391{4[09([’]' ) + .Blolog(Di,j) + 511K1109(Di,j)
+ 512K2109(Di,j) + :813K3109(Di,j) + :814K4109(Di,j) + &)

Tanzania:

log(M;;) = Bo+ BiTi+ BoTo+ BsTs + BuTa+ PBsTs + BeTe + B,T; + Pglog(Py)
+ ﬁnglog(PJ- ) + ﬁlOTzlog(Pj) + ,811T3log(Pj) + ,812T4log(Pj) + ,813T5log(Pj)
+ ,814T6log(Pj) + ,815T7log(Pj) + ,816log(Di,j) + ,817Tllog(Di,j)
+ ﬁlstlog(Di,j) + [)’19T3log(Di,j) + 520T4log(Dl-,j) + ,BZITslog(Di,j)
+ ,BZZTelog(Di_j) + ,823T7log(Di_j) + &

Uganda:

log(Mi,j) =pPo+ B1 U+ BU; + B3Us + LU, +.35109(Pj ) +.86U1109(Pj ) + ﬁ7U2109(Pj )
+ ,88U3log(Pj ) + .39U4109(Pj ) + .310109(Di,j) + .311U1109(Di,j)
+ 312U2109(Di,j) + :813U3109(Di,j) + .314U4109(Di,j) + &)

M;;: total number of migrants from origin, i, to destination, j.

P;: total population size of destination location within each destination country.

D;;: Shortest distance between origin country border and destination location.

K;: Somalia, K: Ethiopia, K3: Sudan, K,: Uganda (do not need a dummy for the fifth country, Tanzania)

T:: Kenya, T,: Uganda, T3: Rwanda, T, Burundi, Ts: DRC, Te: Zambia, T;: Malawi (do not a dummy for
the fifth country, Mozambique)

U;: Kenya, U,: Sudan, U;: DRC, U,: Rwanda (do not a dummy for the fifth country, Tanzania)

Bi; are exponents, specific to each origin-destination pair or destination, estimated from the data.



